3 1
AT O MAFEYI-ILi54Ea| BETELIESC 45 BAKFCUIOC
BEFEYyh-Ihi54Ea 1*0 10*0 6 11 +11 1
HTEIESC 45 oO*1 5*0 3 5 +4 2
BAIFCUIOC 0*10 0*5 o} o] -15 3
BJ O FCHEERU-10 FCFrLYy v—R"- 77K = FCUH'—IL M
FCAZEERU-10 3*0 0*0 4 3 +3 2
FCFrLYy %—R"- 77K = 0*3 0*6 (o] o] -9 3
FCUN™— M 0*0 6*0 4 6 +6 1
= Fr7L-t4%E B EHyh-IEHU In- PTG
FH7 V-t 4E 5*0 1*3 3 6 +3 2
BEFEYyI-LBUIIIO— 0*5 2*3 0 2 -6 3
PNT UYL 3*1 3*2 6 6 +3 1
DO LARGO.FC U-10 BAYO-2 BAIFCUIOB
LARGO.FC U-10 5*0 3*0 6 8 +8 1
BAYO-R 0*5 1*2 o] 1 -6 3
EA/FC U10B 0*3 2*1 3 2 -2 2
= BT iEYyh-IEi54Eb| RBANRFCUIOA | FCFrLUY v—R-TLI7
BT EYyh-ILi54%EDb 2*5 1*1 1 3 -3 2
BAIFCUI0 A 5*2 4*1 6 9 +6 1
FCFvLyy v—R"- 777 1*1 1*4 1 2 -3 3
= EJSc TPITUVAE RBATEFC 4324
EJSc o*1 0o*2 0 o -3 3
PTG 1*0 1*0 6 2 +2 1
RBATEFC 4345 2*0 o*1 3 2 +1 2
= BA40-2 HTEIESC 35 FH7 Lt 3%
BA40-2 3*0 4*1 6 7 +6 1
BTEIESC 35 0*3 1*3 (0] 1 -5 3
Fr7L—1'3%F 1*4 3*1 3 4 -1 2
= FCUh'=IL Y FCREERU-9 BT ESh-EBUITSv Y
FCUh'=IL Y 2*3 3*2 3 5 0 2
FCEEEU-9 3*2 2*0 6 5 +3 1
BT Y- EBUIT SV 2*3 0*2 (o} 2 -3 3




